N = 0l & At & Ml A

M AMHH
Ha: F0 BHEO T2
Sel: FOIBT X EEH-E)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
A 611,342 538,182 73,160
=0 HFEHO &2 555,565 482,705 72,860
=y X3 523,415 450,555 72,860
FA2d 121,275 118,415 2,860
405 TtobFH S 4,561 1,701 2,860
01 AL ESFH SH 4,561 1,701 2,860
oxd& d&JI #¢ 500, 0003 » 14 500 0 500
OsS4 0012 #H 7¢ 2,360 0 2,360
A 2F0EHAAY 125,000 55,000 70,000
401 Al HIZ 201 Y] 125,000 55,000 70,000
01 A& HI 125,000 55,000 70,000
OntE==2t=+= FHl 3,000 0 3,000
Os4litE =24 X 12,100 0 12,100
OKtE0tE nalR=2= ZHIA 5,500 0 5,500
OYIIs2EZH I A 19,500 0 19,500
Ould BIlE s+=2 £X 6,500 0 6,500
OE&d =2&1 10,400 0 10,400
OAIDJHA 22 x4 6,000 0 6,000
OsE3 &Y AFLXSA 7,000 0 7,000
HY A ZH (AP 55,777 55,477 300
JlE&dl 50,977 50,677 300
Jl= 3 50,977 50,677 300
202 044l 22,260 21,960 300
01 SLHOYI 2,460 2,160 300
fFAN2E IO HI 2,460 2,160 300




